4,

5

1

Mixed Review of Congruent Triangles and Coordinate Geometry (4.3, 4.4, 4.5, 4.7) z‘ ’,

Directions: Answer the questions below. Use the figure to help answer the questions.

1. Which shortcut proves the triangles congruent?
SAS (Mark & list the corresponding parts used)
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< ADN R<ONY 1 lines form = oL int LS
: E DV 2 o) Afucure
2. Which shortcut proves the triangles congruent"

SAS (Mark & list the corresponding parts used)
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3. If ATGS = AKEL, which angle in AKEL corresponds to Z7? 4 K

Identify the congruent triangles and name their corresponding con ruent augles
B Congruent Triangles: _ /A 0. == /A FD&
n A o
Congruent Angles: <A =4 = <C 24(51 £D= <‘B
A
AKLM is an isosceles triangle and £1 = £2. Name the shortcut that could be used to prove ALKP = A

LMN. Choose from SSS, SAS, ASA, and AAS. (Be sure to mark & list the corresponding parts used for the shortcut)
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6.  Without finding any other angles or sides congruent, circle the pair of triangles can be proved to be congruent by the

HL Theorem. o

hm;m

AL LZatil

If ALMN is isosceles and Tisthem mldpomt of LN, which shortcut can be used to prove
AMLT = AMNT? (Be sure to mark & list the corresponding parts used for the shortcut)
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Which triangles are congruent in the figure below? nJ [\ - : )
(Write out the congruence statement) L\ MA./ H — LD (.ﬂ {‘},\J
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9. If A4BC is isosceles and AE = FC, which shortcut can be used to prove

AMEB = ACFB? (Be sure to mark & list the corresponding parts used for the shortcut)
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Which triangles are congruent in the figure? ; o Ay A
(Write out the congruent statement) £ | . L« | AV
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If ADJL = AEGS, which segment in AEGS corresponds to DL ? ES

12. IfAWXY = AZYX , find x. 13. IfAACR = AABR, find x.
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14. If AWRS = AZTS , find the value(s) of x. 15. If AADB = ACDB, find the value(s) of x.
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State what additional information is required in order to know that the triangles are cougrnent
for thereason given. SOME_ M AAAL YYLULA P O lSWALALY .
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Complete each congruence statement by naming the corresponding angle or side.

20) AGHI=AMIK 21) \HIJ=AIHC
Z |
H 7
ag= ML
5
ZJHT =° é_C_lH_
22) AIUK=AUVK 23) ARST=ASRG
X = KQ LIRS = ﬁfé)ﬁp

Mixed Practice Continued: Practice Triangle Coordinate Geometry

Find the missing coordinates of each triangle

Find the missing coordinates of each triangle.
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Use the triangle to the right to answer the following questions.

9. a). Find the slope of SR and ST. (e~ ; -\
- 0.0 .O- A ) P T
OV S% ; S

A\ape a7 &0 =& 51 (SlopesT="| ”
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b). What does this tell you about triangle RST?
1 ST so 4ST=90 ano- o]
5 DEST e Q/L\rjld' b - I
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c). Find the length of SR and ST. QR = m - a& =S — QAUOYLC’JU-/
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d). What does this about triangle RST?

QR ST
" IRST 15 136S6eY

10. Given: isosceles aABCWith AC= BC
Rand S are midpoints of legs ACand BC.

Find points S and R.

And © (Latda , 2okt z\o’rDB
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Given: AABC =

Sis the midpoint of AC.
Tis the mldpomt of BC
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12. Katrina lives 6 miles east and 4 miles north of her high school. The mall is 2 miles west and 3 miles north of the
school. Write a coordinate proof to prove that Katrina’s high school, home and the mall form a right triangle.
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